ﬂt‘ﬁ

BE-TBE-_WmE ZEHMER

B2 It
&M 5 £ A 18
BA:A ARRIEFRIRRRELG>TEYVET, FAHDBEERIL 10 % TEHELTHYET, X R EBEERIHEK
= S50 3| =} N 131 3ty 2 N AE z ~; S ]
% 4 At i RREAEN | FHEEH | jwe | i | m | AR s mes awes|  SEREAE San | zan
R | T HE | HTHE T R i 5A EETHREEDD
fiL- B 31| 127,100 | 26 |49,400] 57,000 | 2,000 3,800 262,300 288,530 1,750
e
2 (A T) Eﬁ_iﬁA 29 | 118,900 | 2 | 3,800 | 52,000 2,000 1000 | 12000 | 8000 198,700 218,570 2 850
KEE (L) 23| 94300 | | oo oo | 1000 178,800 196,680 3,800
K (EH) 31| 127,100 ' ! 211,600 232760
@il B 34 | 139,400 | 26 | 49,400] 57,000 | 2,000 3,800 274,600 302,060 1,750
——
" Enﬁ._fﬁ ] 32 | 131200 | 2 | 3,800 | 52,000 12000 8000 |211:000 232,100 2 850
ZEMT) k¥ (&E#H) 26 | 106,600 2,000 1,000 191,100 210210 3,800
: 5 | 9,500 | 51,000 1,000
K (EH) 34 | 139,400 223,900 246,290
BE| (AT 4 | 16,400 25,000 6,000 | 4000 | 55,400 60,940
ﬁT_ A%) Rer. BAt-4L | 19 | 77,900 | 16 |30,400| 57,000 | 2,000 | 2,000 | 1,900 | 1,000 | 6,000 @ 4000 | 182,200 200,420 1,750
@il B 19 | 66,500 | 26 |49,400| 43,000 | 2,000 1,900 175,800 193,380 1,750
e & 17 | 59,500 | 1 | 1,900 | 40,000 | 1,000 115,400 126,940 3,800
EE,\’%_T)“ = 2= (AT) UMEY) | 5 | 17,500 2,000 1,000 | 6,000 | 4,000 | 55,500 61,050
5 [ B=ONRAT) 8 | 28,000 25,000 66,000 72,600
INIMT+EZAT| 3 | 10,500 48,500 53,350
@il Bt 15 | 52,500 | 26 |49,400| 43,000 | 2,000 1,900 161,800 177,980 1,750
Al ST — A A
wE—wn  EE . 13| 45500 | 1 | 1,900 | 40,000 | 1000 | , o 1000 | 6000 | 4000 |191:400 111,540 3,800
(AT = (T=CMIMT) | 3 | 10,500 25,000 48,500 53,350
& (2-(pBIAT) | 5 | 17,500 ’ 55,500 61,050
st @il Bt 12 | 42,000 | 26 |49,400] 43,000 | 2,000 1,900 151,300 166,430 1,750
E?MH T |[EE 10 | 35000 | 1 | 1,900 | 40,000 | 1,000 | 2,000 1,000 | 6,000 | 4,000 [ 90,900 99,990 3,800
EE| = (NERAT) 4 | 14,000 25,000 52,000 57,200
X E B
(1) RSB AT, SEUEBCRRRIC T 2 B T, ENECE, MEHCE. [ RS B A LT T,

(2)
(3)
4)
(5)

(6)

(1 KRR HifliL, 84, 100 ¥ H 23,500 +iHEFL10%TT)
BEICAREHK & o haE, IHER (B8 » WH 6,000 +HEEBL L 0%) & MiEEEEE&NHIRNEL T,
RAFRRBRNREH & 2o oG A, RAERBRFECE, 700 GEESR) /EINLETY,
ETRER, 2R & 13BN sz B TEoEE « (a3 Tk & U CRRIBINAGGERRAY GERRBL) 230000 £,

FRIERREIRE, OB e LIRS R R FEORE - W PR RO - A FEOEE & U CRIRIRIUAGERRAR  (FERRBL)

FEOFIIRTE L Z—I2TEBXIE 20 £,
FRIBEOFE X, TRMOREICESEREE L £T,

ARY/RV/ENI R S A



ERE-BR_GE HEHEITHER

Bir:M JHEMRI10%THELTEYET,

fM 5 £9 A 1H

R R BB EFRLHEER

pres BAL%E = . _ s FARER = " _
HiE a =% (Bith2%8) A R fiRERR HE a =14 (Fath&%8) AN R BiREKTR
D AZ&E 57,000 AN 2,000 @it 2,000 $HETAS 3,800 Cr AZE£ 57000 AL 2,000 #EE 2,000 #HERTRE 3,800
r- 1[\] a 44:000) FRHE12050R 49,200 t%_:ﬂmﬂ%rsﬂ 19,000 & 1,000 o | B 1[=] (156:300) FHE15650R 61,500 -"?-j'ﬂmﬁ%fiﬁ 19,000 EE 1,000
2 i ETHRE 6,000 {&TEAE 4,000 Bk {ETHRE 6,000 {&TEHEAE 4000
= L 2[@] 78,540 A2 1085 41,000 2F16B5FE 30,400 - L 2[q] 78,540 HE21085R 41,000 FL16B5E 30,400
NE (71,400) RE DR A FIRE ' M| (71,400) RETTR AU IR '
IR | 3m 51,590 FREEORFIR 36,900 ZEEMRTE 6,000 ZEZEFIEAE 4,000 IR 3m 51,590 FHEEORERR 36,900 ZEEFRTE 6,000 ZZEFTEAE 4,000
T i+ (46,900) T i+ (46,900)
= 288,530 = 302,060
H (262,300) R (274,600)
16 117,700 | AZ%£ 52000 &£ 2,000 #AE106FFR 41,000 FE 1,000 1@ 131,230 |AZ%£ 52000 & 2,000 #AE136FFR 53,300 BEE 1,000
- (107,000)  |#AH 1000 ETHRE 6000 ETEHHE 4000 - (119,300)  |#Af 1000 ETHRE 6000 {£T7EBAE 4000
=] [=]
B & | 2@ 49,280 FHEE10B5FR 41,000 %1285 3,800 B & 2m 49,280 FBE10B5FR 41,000 %2850 3,800
= (44,800) = (44,800)
- 51,590 N s g DU - 51,590 “ s s e U
:_?_\ = | 3H (46.900) HBEORFPR 36,900 ZEEIRTE 6,000 ZEZEFIBAE 4,000 I\_I{I = | 3= (46.900) FEEORFRR 36,900 ZEEIRTE 6,000 ZEZFERAE 4,000
£t 218,570 5t 232,100
" (198,700) : (211,000)
ar 1 95,040 AZEE 43,000 AR 2,000 @&EE 2,000 $HEFRE 1,900 = 16 110,400 AZE£ 43000 HAHK 2,000 @&EfE 2,000 FHEFRL 1,900
; (86,400)  |+HE5EFER 17,500 E10B5FE 19,000 EE 1,000 5 (100,400) | +:49B50R 31,500 2RI10B5FR 19,000 S E 1,000
= % o] 82,940 Fiae1085R 35000 ZF116B5E 30,400 = % o] 82,940 FRHE10RBER 35,000 ZFl168FE 30,400
N (75400) | Z=#45%E 6000 ZEIIBAE 4,000 ML (75,400)  |Z=%£i8%E 6,000 ZEEIFEAE 4,000
T £t 177,980 T = 193,380
H (161,800) R (175,800)
A 1 67,650 AZE& 40000 @ 2,000 HEESEEFR 17,500 BEE 1,000 a 1] 83,050 A4 40,000 @ 2,000 HEE9REER 31,500 EE 1,000
g (61,500)  |EAf 1,000 E (75,500)  |&A&ft 1,000
- & g 43890  |HkHEBEFAR28,000 FHRIEFMR 1900 = ¥ g 43890  |1kAESEFMR28,000 FELEFIR 1,900
& (39.900) | Z=%ip%E 6,000 FZEEEHE 4,000 & (39.900)  |ZipE 6000 FEIEHE 4000
A = 111,540 M s 126,940
T a (101,400) T ) (115,400)




